
E
in

p
a
a
r

h
ä
u

fi
g

e
B

e
isp

ie
le

fü
r

T
a
y

lo
r
e
n

tw
ic

k
lu

n
g

e
n

u
n

d
d

e
r
e
n

A
b

w
e
ic

h
u

n
g

e
n

v
o

n
d

e
r

u
r
sp

r
ü

n
g

lic
h

e
n

F
u

n
k

tio
n

 0

 0.5

 1

 1.5

 2

 0  10  20  30  40  50  60

re
la

ti
ve

A
b
w

ei
ch

u
n

g
d

er
t i

(x
)

(i
n

%
)

x (in ◦)

(t1(x) − sin(x)/ sin(x))

(t3(x) − sin(x)/ sin(x))

 0

 0.5

 1

 1.5

 2

 0  10  20  30  40  50  60

re
la

ti
ve

A
b
w

ei
ch

u
n

g
d

er
t i

(x
)

(i
n

%
)

x (in ◦)

(t0(x) − cos(x)) · cos(x)−1

(t2(x) − cos(x)) · cos(x)−1

(t4(x) − cos(x)) · cos(x)−1

-1.5

-1

-0.5

 0

 0.5

 1

 1.5

-3 -2 -1  0  1  2  3

f
(x

)

x

sin(x)

t1(x) = x

t3(x) = x −

1

3!
x3

-1.5

-1

-0.5

 0

 0.5

 1

 1.5

-3 -2 -1  0  1  2  3

f
(x

)

x

cos(x)

t2 = 1 −

1

2
x2

t4 = 1 −

1

2!
x2 + 1

4!
x4

1



 0

 0.5

 1

 1.5

 2

 0  0.1  0.2  0.3  0.4  0.5

re
la

ti
ve

A
b
w

ei
ch

u
n

g
d

er
t i

(x
)

(i
n

%
)

x

(t1(x) − exp(x)/ exp(x))

(t2(x) − exp(x)/ exp(x))

 0

 0.5

 1

 1.5

 2

 0  0.05  0.1  0.15  0.2

re
la

ti
ve

A
b
w

ei
ch

u
n

g
d

er
t i

(x
)

(i
n

%
)

x

(t1(x) − ln(1 + x)) · ln(1 + x)−1

(t2(x) − ln(1 + x)) · ln(1 + x)−1

(t3(x) − ln(1 + x)) · ln(1 + x)−1

 0

 1

 2

 3

 4

 5

-1 -0.5  0  0.5  1  1.5  2  2.5  3

f
(x

)

x

exp(x)

t1(x) = 1 + x

t2(x) = 1 + x + 1

2!
x2

t3(x) = 1 + x + 1

2!
x2 + 1

3!
x3

-1

-0.5

 0

 0.5

 1

 1.5

 2

-0.5  0  0.5  1  1.5  2  2.5

f
(x

)

x

ln(1 + x)

t1 = x

t2 = x −

1

2!
x2

t3 = x −

1

2!
x2 + 2

3!
x3

2


